HEBUEANEINSRE

FISHE—HIN BT H=FEMUIARMR)

SETHETESE
(H) Fr28F4H1H (E) FErk29%F3H31H
(841 : A)
BENE LEERE(A) B RE(B) IER(A)-(B)

BB RN 134,527, 407 128, 895, 711 5 631, 696

g | BB RN 292,551, 344 277, 983, 222 14, 568, 122

1| | IR EE I RUNES 2,027,619 1,079, 094 948, 525
|| et 3,665,217 2,771, 545 893, 672
¢ Pt EBREE (1) 432,771,587 410, 729,572 22,042,015
N 335, 378, 513 318, 010, 643 17,367, 870
EE"" 49, 416, 659 48,127, 711 1,288, 948
A& | 21, 055, 629 15, 395, 038 5, 660, 591
B (FEESBRERE 0 0
e | B e A0 10, 866, 638 14,730, 320 -3, 863, 682
| FB| B & S B T S ERHASE -5, 689, 226 -5, 599, 338 -89, 888
o| |HuxTacEE 0 0
| |BURTEES M RERA 0 0
= | zohoBER 89, 100 0 89, 100
H-PEBEM (2) 411,117, 313 390, 664, 374 20, 452, 939
HEXEBMERESE (3) = (1) — (2) 21, 654, 274 20, 065, 198 1,589, 076
EASH SRV 0 0
SHF SES S UV 117,098 34,792 82, 306

9| |oifEs s 0 0
| [ R 5 ilsrassoinss 0 0
B | |1 EamaT Tl 0 0
2| |mEamErsssns 0 0
= |zothoy - ESSMRE 4,217,100 4, 387, 406 -170, 306
#y| | —CXEBIMRZSEL (4) 4,334,198 4,422,198 ~38, 000
| LR 0 0
| [BMEESEREA 0 0
S| 5| BT ANA 0 0
iRk | 1A RS SR 0 0
o| " |wEaiiEisssama 0 0
@l |zothoY—EREESMER 4,028,100 3, 813, 300 214, 800
Y- P EENERS (5) 4,028,100 3, 813, 300 214, 800
H_EXEBIMNERZESE (6) = (4) — (5) 306, 098 608, 898 302, 800
EEEREE (7) = (3) + (6) 21, 960, 372 20, 674, 096 1,286,276
R e 12,999, 480 230, 000 12,769, 480
ey e AN 0 0
EREEESBASTOEESHSING 0 0

R Erarsms 0 0

| BT aEE 0 0

g| |PERESRIRA RN 0 0
ZOMOIERIIRES 0 0

Bl Tasmiuwasst (8) 12,999, 430 230, 000 12, 769, 430
B |exe|AE 0 0
w| |EEspma 0 0
0| |ExaEsE-nsEs 68,738 68,738
on| | EEMBESISBIETI S IARE (RE1%) 0 0
| EVEAREN & AR 2T E 9, 564, 000 230, 000 9,334, 000
SER% 0 0
Y—PAXRHEA ST 0 0
ZOMhOIEBIIESK 0 0
1ERIBEAST (9) 9,632, 738 230, 000 9,402, 738
TERIERERE (10) = (8) — (9) 3, 366, 742 0 3, 366, 742
LHPEENERELE (11) = (7) + (10) 25,327,114 20, 674, 096 4,653,018
= enneasEEEEEE (12) ~42, 872, 405 31, 746, 501 —11, 125, 904
= [HRREeME BN~ (13) = (11) + (12) -17, 545, 291 =11, 072,405 —6, 472, 886
w [EASHEEE (14) 0 0 0
s |zt SEEREE (15) 62, 500, 000 2,200, 000 60, 300, 000
= 20 thOET SHEIEE (16) 2. 000, 000 34, 000, 000 32,000, 000
w RERIRMCEENERARE (17) = (13) + (14) + (15) — (16) 42,954,709 -42, 872, 405 85, 827, 114




